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13, The table shows some information sbout the weights, in kg. of 100 boxes.
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8. Thetable shows some informalion aboul the ages, in years, of 60 people.
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9 The graph shows the number of umbrellas sold in Ling’s shop for each quarter from quarter 1 of
2017 to quarter 3 of 2019.
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8 The table shows the number of computers sold in Tom's shop each quarter from 2015 to 2017.
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{c) Make two comments about Tom's sales over the period 2015 10 2017.
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8 The table shows the average number of customers per day entering a shop.
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‘The time students spent watching TV was recorded.
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A music festival has taken place each year from 2011
“The table shows the number of people who attended each year.
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6 (a)  Complete the graph. 2marks

6 (b)  Use the graph to estimate the number of people who wil attend the festival in 2019
[2marks]





image1.png
3 The table shows information sbout the heights of 80 plants..
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7 The table gives information about the specds of 70 cars.
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1 The table shows information about the heights of 80 children.
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4 The grouped frequency table gives information about the heights of 30 studeats.
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9 The Srequency table gives information about the pumbers of emails sent by 51 teachers.
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